b

S i o line W 5 a2 tag oy
20 et o8 gla a5 e s, slendled

m ¢ oz bahs - pale o Sl (oly csige sl PEDCO
NISOC tae 55 SWOOTS Ssbse &2 Ly o Slo ) 50 Dl Al ==
Sy pwllS aaljuis b
:O\‘:‘ o)u Typical Instrument Installation Drawing —

053-073-9184

Extension of Binak B/C Manifold

8395 &SJK‘;“‘E aJ;;f)Jla

O Naged s,

& e ¢y Jus-

BK

W007S | PEDCO

110 IN

Dw 0001

D02

CRC IR IVNVFCINCN | EPCE IRV Sy

TYPICAL INSTRUMENT INSTALLATION DRAWING-
EXTENSION OF BINAK B/C MANIFOLD

Sy b olase adss Gl 31 5 s lugl

IFC:

issued For Comment

IFA: Issued For Approval

AFD:
AFC:
AFP:
AFQ:

IF1:

Approved For Design

Approved For Construction

Approved For Purchase

Approved For Quotation

Issued For Information

AB—R: As—Built for CLIENT Review
AB—A: As—Built — Approved

De2 JUL.2022 IFI P.Hajisadeghi M.Fakharian M.Mehrshad

D01 MAY.2022 IFI P.Hajisadeghi M.Fakharian M.Mehrshad

DOO MAR.2022 IF1 P.Hajisadeghi M.Fakharian M.Mehrshad

REV. DATE PURPOSE OF ISSUE/STATUS | PREPARED BY: | CHECKED BY: | APPROVED BY: | CLENT APPROVAL
CLASS: 3 CLIENT Doc. Number:F2J—707983

STATUS: IDC: Inter—Discipline Check




S G o lae w1 el 05
20N e o518 lo w55 e, slendle

Xea/pN C b bk = el e DLl (ol cyiige el
NISOC a5 SWOOTS usbse 4 by jo Slo;y G Dlhiges @GM@ ==
Koy ;oS aal,0in [I5
ol o)l N fension of Binak 8/¢ Mertteld
053-073-9184 05sp |6l e faS ol ot | w2, (S| Jbo | oo 28 5102 ramie o)l
BK WO007S | PEDCO 110 IN DW 0001 D02

REV. DOO | DO1 |DO2 (D03 |DO4 | DOS REV. DOO | DO1| D02 | D03 | D04 | D05

PAGE PAGE
1 X | X | X 26 X | X
2 X | X | X 27 X | X
3 X | X 28 X
4 X | X 29
5 X | X 30
6 X | X 31
7 X X 32
8 X X 33
9 X X 34
10 X X 35
11 X X X 36
12 X X X 37
13 X X X 38
14 X X X 39
15 X X X 40
16 X X X 41
17 X X 42
18 X X 43
19 X | X 44
20 X X 45
21 X X 46
22 X X 47
23 X X 48
24 X | X 49
25 X X 50

REFERENCE

LSPECIFICATION FOR INSTRUMENTATION

BK-GNRAL-PEDCO-000-IN-SP-0001_DO3

PINSTRUMENT & CONTROL SYSTEM DESIGN CRITERIA BK-SSGRL-PEDCO-110-IN-DC-0002 DOl

P&ID — EXTENSION OF BINAK B/C MANIFOLD

BK-w00/S-PEDCO-110-PR-PI-0001 _DO1




Sop i olae ad s Sl 3l e g 05

é 2ol s 58 glo i 55 e, sledles
Xea/pN Colr bshs o aly e Sl (oly cyrdse Lo
NISOC daw 55 gWOO7S umbsn 4 bgvje oy G oWiges

Ko sullS anl juis

ol 0l e dension o Binak B/¢ Mertald
053-073-9184 5n |68 am |l ONps | w2, | Sueps| S | e 28 5103 remo ol
BK WO007S | PEDCO 110 IN DW 0001 D02
TITLE SHEET NO.REMARKS
<SUPPORT & STANCHION TYPICAL DETAIL>
PANEL MOUNTING/PIPE MOUNTING 04
PANEL MOUNTING BRACKET/PIPE MOUNTING BRACKET 05
SUPPORT AT GROUND LEVEL (GENERAL PURPOSED 06
SUPPORT AND INSTALLATION DETAIL FOR INSTRUMENTS (FOR TwD INS.SD 0/
SUPPORT AND INSTALLATION DETAIL FOR INSTRUMENTS (FOR THREE INS.S 08
09
IRON SHEET CUTTING FOR SUNSHINE 10
<JUNCTION BOX TYPICAL DETAIL>
JUNCTION BOX INSTALLATION , SINGLE <(PAVED AREAD 11
JUNCTION BOX INSTALLATION , DOUBLE (PAVED AREAD 12
JUNCTION BOX INSTALLATION , DOUBLE (PAVED AREAD 13
JUNCTION BOX INSTALLATION , SINGLE (UNPAVED AREAD 14
JUNCTION BOX INSTALLATION , DOUBLE (UNPAVED AREAD 15
JUNCTION BOX INSTALLATION , DOUBLE (UNPAVED AREAD 16
<INSTRUMENT TYPICAL DETAIL>
INSTALLATION SMOKE/HEAT DETECTOR UNDER CEILING 17
INSTALLATION SMOKE/HEAT DETECTOR IN CONTROL ROOM CABLE TRENCH 18
%JNASJLALﬁBALJTIILD]]NINg)ANUAL CALL POINT,HORN AND FLASH BEACON ON 19
INSTALLATION FLASH LIGHT & SUOUNDER 20
INSTALLATION DETAIL FOR FLAME DETECTOR el
<CABLE TRAY TYPICAL DETAIL>
CABLE ROUTE MARKER POSTS ee
INSTRUMENT CABLE INSTALLATION AROUND JUNCTION BOX e3
INSTALLATION DETAIL FOR CABLE AROUND THE LOCAL INSTRUMENTS c4
CABLE TRAY SUPPORT 25
TYPICAL METHODS OF TRAY SUPPURT co
CABLE TRAY SUPPURT e/
CABLE TRAY SUPPURT e8




Sip i olae s Gl Bl 5 2s 198 055 0 @‘
Q 2ol s 58 glo i 55 e, slendle ™
Xea/pN C b bsks -l Sl oy g sl
NISOC vl SWOOTS Cmbye 2 by o Sl G Dl ar ==
Ky llS aaluir C/ [I5
ol o)l N fension of Binak 8/¢ Mertteld
053-073-9184 05sp |6l e faS ol ot | w2, (S| Jbo | oo 28 5104 ramie o)l
BK WO007S | PEDCO 110 IN DW 0001 D02

PANEL MOUNTING

@ BOLTS FOR PANEL

G MOUNTING

8| Pgme—— o
il

| \“
BOLTS FOR TRANSMITTER

o MOUNTING & 3
e

PIPE MOUNTING

2", U-BOLT FOR PIPE
MOUNTING




Sip i olae s Gl Bl 5 2s 198 055 0

Q 2ol s 58 glo i 55 e, slendle
Xea/pN Sl bk« ol e DLl (ol cpmige el
NISOC de g5 s WOO7S Cumbse 4 bgy o Sl G SWigus

Ko sullS anl juis

'Q““‘-j a)\MZ TypEicoI Ir}sfrumen.f Installation [?rowing -
xtension of Binak B/C Manifold

053-073-9184 05sp |6l e faS ol ot | w2, (S| Jbo | oo 28 5105 ramie o)l
BK WO007S | PEDCO 110 IN DW 0001 D02
PANEL MOUNTING BRACKET

BOLTS FOR PANEL

MOUNTING

PIPE MOUNTING BRACKET




Sip i olae s Gl Bl 5 2s 198 055 0
2ol s 58 glo i 55 e, slendle

m’ c bz bk - alr o Bl (ols camise calo PEDCO
NISOC da g SWOOTS mbse &2 Lsr o Slo )y G Sl ar ==
Ko sullS anl juis C/ L b
:Q““:-j a)u Typical Ir}sfrumen.f Installation [?rowing -
Extension of Binak B/C Manifold
; ! T L
053-073-9184 05z |6 [ plo] g | w2, [Swps| S | 6 0T 06 e e,
BK | W007S | PEDCO | 110 IN DW 0001 D02
SUPPORT AT GROUND LEVEL (GENERAL PURPOSE>
WELDED
3B ot TRANSMITTER
o >
FOR IDENTIFICATION )/@
o
o
) //@
o
oS 3
WELDED 553
S
S
/ !
) 3
"\ S

WELDED

WELDED @
4-HOLES @14 4-HOLES @14 =
FOR BOLTS M12/NUTS FORC:%OETQ; M12/NUTS s== 5
X 7 X
nia B PUTF 2 - @
250 \. STRUCTURE
350 250
400 350
FRONT VIEW FRONT VIEW o
CODE DESCRIPTION SIZE QTY. MATERIAL
01 |PIPE "¢ 1.6m CARBON STEEL
02 | CAP 2@ 1 CARBON STEEL
03 | STEEL ANGLE L 50x50x6t 0.65m CARBON STEEL
04 | STEEL CHANEL UNP100 (100x50x5tx7.5t) 0.8m CARBON STEEL
05 | BASE PLATE 350x350x10t 1 CARBON STEEL
06 | BOLT & NUT M12x30L 4 CARBON STEEL H.D.G.




Sip i olae s Gl Bl 5 2s 198 055 0
2ol s 58 glo i 55 e, slendle

Xea/pN Sl bk« ol e DLl (ol cpmige el
NISOC o WOOTS Susbge 2 Ly o 2oy G D lges @GAI; —
Sy olS aal uir (15
ol 0l N tonsion o Binak /¢ wanfols
053-073-9184 055 68w oS plof e | a, [ Speps| o |ow 28 5107 emieo)l
BK WO007S | PEDCO 110 IN DW 0001 D02

SUPPORT AND INSTALLATION DETAIL FOR INSTRUMENTS (FOR TWO INS.S)

AN

AN

WELDED
500 |

X,

WELDED

SIDE VIEW

WELDED

.

/1,

250
180
|
|
[

s

1)
o

4 HOLES 912

CHANNEL BASE & FDN DETAIL

(BOTTOM VIEW)
4 HOLES 912
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 PIPE, SCH 40 (L:1150mm) 2" CARBON STEEL 1 Piece
2 PIPE, SCH 40 (L:450mm) 2" CARBON STEEL 2 Piece
3 PIPE, SCH 40 (L:400mm) 2" CARBON STEEL 1 Piece
4 CAP, SCH 40 2" CARBON STEEL 2 Piece
5 PLATE 250 x 250 x 6t CARBON STEEL 1 Piece
6 EXPANSION BOLT M10 x 100L CARBON STEEL H.D.G. 4 Piece
7 STIFFENER PLATE 80 x 200 x 6t CARBON STEEL 4 Piece




Sip i olae s Gl Bl 5 2s 198 055 0
2ol s 58 glo i 55 e, slendle

Xea/pN Sl bk« ol e DLl (ol cpmige el
NISOC o WOOTS Susbge 2 Ly o 2oy G D lges @GAI; —
Sy olS aal uir (15
ol 0l N tonsion o Binak /¢ wanfols
053-073-9184 055 68w oS plof e | a, [ Speps| o |ow 28 5108 enieo)l
BK WO007S | PEDCO 110 IN DW 0001 D02

SUPPORT AND INSTALLATION DETAIL FOR INSTRUMENTS (FOR THREE INS.S)

WELDED

NS

AN

WELDED

WELDED

e

4 HOLES 212

WELDED

[

Y

SIDE VIEW

/

250
180
|
|
I

35

4 HOLES 912

CHANNEL BASE & FDN DETAIL

(BOTTOM VIEW)

ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. | UNIT
1 PIPE, SCH 40 (L:1150mm) 2" CARBON STEEL 1 Piece
2 PIPE, SCH 40 (L:450mm) 2" CARBON STEEL 3 Piece
3 PIPE, SCH 40 (L:1000mm) 2" CARBON STEEL 1 Piece
4 CAP, SCH 40 2" CARBON STEEL 3 Piece
5 PLATE 250 x 250 x 6t CARBON STEEL 1 Piece
6 EXPANSION BOLT M10 x 100L CARBON STEEL H.D.G. 4 Piece
7 STIFFENER PLATE 80 x 200 x 6t CARBON STEEL 4 Piece




S CIET I KWK P IPROE IR Oy P @‘
Q 2ol s 58 glo i 55 e, slendle ™
m c bz bk - alr o Bl (ols camise calo PEDCO
NISOC vl SWOOTS Cmbye 2 by o Sl G Dl ALY =
Ko sullS anl juis C/
'Q““‘-j a)\MZ TypEicoI Ir}sfrumen.f Installation [?rowing -

xtension of Binak B/C Manifold

053-073-9184 0552 (& oS plo| Mg |ty [ Sups| S [ s 28 ! oy o)l
BK WO007S | PEDCO 110 IN DW 0001 D02
FRD FLAT COVER
REFER COVER DRAWING
N =30 FOR DETAIL
3 SEE COVER CLAMP DETAIL
w
CONTACT MOULDED TYPE FLAT COVER
RECOMMENDED: ONE CLAMP FOR EVERY 1.5M
_ M8 THREADED HOLE

FOR SS316 HEXAGON BOLT
D=4 M8 X 10 & SPRING WASHER
/@

“
&
&
3

%% Rewmm%%&er of 3 meter
VER CLAMP DETAIL-SS316

(CC-SS)

CC-SS

LADDER TYPE| H Wi| t A B REMARKS

LH 1563 | 32 | 20| 42 15 | W2=200,300,400,450,600




Sip i olae s Gl Bl 5 2s 198 055 0

Q 2ol s 58 glo i 55 e, slendle
Xea/pN Sl bk« ol e DLl (ol cpmige el
NISOC de g5 s WOO7S Cumbse 4 bgy o Sl G SWigus

Ko sullS anl juis

:Q““:-j a)\MZ Typical Ir}sfrumen.f Installation [?rowing -
Extension of Binak B/C Manifold
: ! tamio ol
053-073-9184 I e e R B R 2 B 10 >
BK WO007S | PEDCO 110 IN DW 0001 D02
IRON SHEET CUTTING FOR SUNSHINE
Weld
‘ 4504*‘ i 400 i
= f RN
o o 9
L L] S s\ 3 o
« - «
| i ¢ [
ﬁ
OO Instrument
O 6FH
1o

Stanchion (2" Pipe)

NPT
pit ™
®
L
@® § =100 -
<
O
Fig. 1
SUNSHADE MANUFACTURED AT SITE BY INSTRUMENT INSTALLATION CONTRACTOR, 400
FROM 2.31 MM THICKNESS CARBON STEEL, MOUNTED WITH 2" SIZE U-BOLTS, NUTS AND
WASHERS, ALL SHARP EDGES TO BE REMOVED AFTER CUTTING AND WELDING THEN _
PAINTED. Development of Fig. 1
CODE DESCRIPTION SIzZE QTY. MATERIAL
03 | STEEL ANGLE L40x40x2.31t | 0.9m CARBON STEEL,SCH40
09 | UBOLT & NUT WITH SPRING WASHERFOR 2" PIPE | 2@ 1 CARBON STEEL




Sip i olae s Gl Bl 5 2s 198 055 0
2ol s 58 glo i 55 e, slendle

m’ c bz bk - alr o Bl (ols camise calo PEDCO
daw o5 3WOO7S¢..:.:$_9.¢ a Jﬁy}a d"L"") SR QU.:.QMJ HIRGAN —)
NISOC PO 'C 1=
&H.»__ B a2 )J.b?
:Q““:-j a)u TypEicoI Ir}sfrumen.f Installation [?rowing -
xtension of Binak B/C Manifold
-1 s .
053-073-9184 05z |6 [ plo] g | w2, [Swps| S | 6 28 5T samio o)l
BK W007S | PEDCO 110 IN DW 0001 D02
JUNCTION BOX INSTALLATION , SINGLE (PAVED AREA)
~—— TO BE DETERMINED AT SITE —
JUNCTION BOX B
w 250
& 180
g | | o0
[a] ~ -— -
uzJ ~ : ( —
z L 3
E / — ¢
4 5 \
; S O— L 3
) - oy
o DETAIL "A 215
P (: 2
‘ o4 § E
. N ,
JGL SEE  DETAIL "A /@)
i
LC - ﬁﬁL :
CODE DESCRIPTION SIZE QTY. MATERIAL
01 | PLATE 250 x 250 x 10t 2 CARBON STEEL
02 EQUAL ANGLE 50x 40x 5t ‘2 2m CARBON STEEL
03 U-CHANNEL 100x 50x 6t ; 5m CARBON STEEL
04 EARTH LUG FLAT BAR,TWO HOLES @6.5mm 100 x 50 x 6t 1 CARBON STEEL
05 EXPANSION BOLTS M12 x 100L 8 CARBON STEEL H.D.G.
06 BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L 4 CARBON STEEL H.D.G.
7 JUNCTION BOX 400x360X210 1




Sip i olae s Gl Bl 5 2s 198 055 0
2ol s 58 glo i 55 e, slendle

m’ c bz bk - alr o Bl (ols camise calo PEDCO
e SWOOTS e & bsr o Sloy G g BERAY ==
NISOC PR 'C 1=
&H.»__ B a2 )J.b?
:Q““:-j a)u TypEicoI Ir}sfrumen.f Installation [?rowing -
xtension of Binak B/C Manifold
| o )
053-073-9184 0552 (& oS plo| Mg |ty [ Sups| S [ s %8 50 1R o)l
BK | woo7s | pEDCO | 110 IN ow | ooot | Doz
JUNCTION BOX INSTALLATION , DOUBLE (PAVED AREA)
TO BE DETERMINED AT SITE
L'J_J JUNCTION BOX JUNCTION BOX
&
&
a 250
~ 130
LIZJ \.>® ‘<—>‘ »H«lo
: i 0% e =
w — o
= Iy I
o R a
2 2 —0 LN L
= Z \, 7 15
9 3| L° | ‘ oq DETALL "A” e
SEE  DETAIL "A” /@)
a ) ey ) (D\ﬁ
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ.| UNIT
1 PLATE 250 x 250 x 10t CARBON STEEL 3 Piece
2 EQUAL ANGLE { 50x 40x5t ) | CARBON STEEL 4m Meter
3 U-CHANNEL ( 100x 50x 6t § | CARBON STEEL 7m Meter
4 EARTH LUG FLAT BAR, TWO HOLES @6.5mm 100 x 50 X 6t CARBON STEEL 2 Piece
5 EXPANSION BOLTS M12 x 100L CARBON STEEL 12 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L AT 8 Piece
{ 7 JUNCTION BOX 400x360X210 2




Sip i olae s Gl Bl 5 2s 198 055 0
2ol s 58 glo i 55 e, slendle

m’ c bz bk - alr o Bl (ols camise calo PEDCO
de g5 s WOO7S Cumbse 4 bgy o Sl G SWigus HIEGAY ==
NISOC PR 'C 1=
&H.»__ B a2 )J.b?
:Q““:-j a)u TypEicoI Ir}sfrumen.f Installation [?rowing -
xtension of Binak B/C Manifold
| o )
053-073-9184 05z |6 [ plo] g | w2, [Swps| S | 6 28 5113 samdo o)l
Bk | woo7s | pepco | 110 IN ow | ooot | Doz
JUNCTION BOX INSTALLATION , DOUBLE (PAVED AREA)
TO BE DETERMINED AT SITE
,
¢ 3
5
E JUNCTION BOX JUNCTION BOX JUNCTION BOX
@
=
<C
a ~
w N~
o {
- i i 7 r®
& 1
EC)
o5 —O
e
m Q)\
SEE DETAIL "A" (D\ f
250
180
b L =
Rl I
Ip]
ad
7’*%* 3%(’ =
@15
DETAIL "A"
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ.| UNIT
1 PLATE 250 x 250 x 10t CARBON STEEL 3 Piece
2 EQUAL ANGLE { 50x 40x5t 3 | CARBON STEEL 6m Meter
3 U-CHANNEL {7100x 50x 6t J |  CARBON STEEL 7m Meter
4 EARTH LUG FLAT BAR,TWO HOLES @6.5mm 100 x 50 x 6t CARBON STEEL 2 Piece
5 EXPANSION BOLTS M12 x 100L CAREF[;\‘GSTEE'- 16 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARBOENESTEEL 12 Piece
{ 7 JUNCTION BOX 400x360X210 3




S CORNE TR RVPSRW JC I ) IPRCHCY R G @‘
N

Q 2ol s 58 glo i 55 e, slendle
m’ c bz bk - alr o Bl (ols camise calo PEDCO
NISOC vl SWOOTS Cmbye 2 by o Sl G Dl ALY ==
Ko sullS anl juis C/
coloo o s Typical Instrument Installation Drawing —
O Extension of Binak B/C Manifold |
053-073-9184 05sp |6l e faS ol ot | w2, (S| Jbo | oo 28 5114 samio o)l

BK WO007S | PEDCO 110 IN DW 0001 D02

JUNCTION BOX INSTALLATION , SINGLE (UNPAVED AREA)

—+ TO BE DETERMINED AT SITE +—
Ll JUNCTION BOX
W
®
=
<C
a -
L ~Ny - e
zZ
s ﬁ P ﬁ
=
o
8 S
" ) ®
° \EXI R I=
SEE DETAIL "A" K
&= ‘e, ) = 2 1 o
AT e 11 SRR é CONCRETE. BLOCK(SEE. NOTE 2 TR
N e Lo I PPE e L |
s s L S g Tl
L L 250 RN
W AP N R AN Z 180 B7/ BRI 7/
‘ ‘ 4Hk 10 300
\r T0_BE DETERMINED AT SITE { T ‘ ‘ . P—ﬁ
i
&
L*%% %* &
T T
@15
DETAIL "A”
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ.| UNIT
1 PLATE 250 x 250 x 10t CARBON STEEL 2 Piece
2 EQUAL ANGLE ¢ 50x 40x5t 3 CARBON STEEL 2m Meter
3 U-CHANNEL ¢ 100x 50x 6t § CARBON STEEL 5m Meter
4 EARTH LUG FLAT BAR, TWO HOLES @6.5mm 100 x 50 X 6t CARBON STEEL 1 Piece
5 EXPANSION BOLTS M12 x 100L CARﬁODNGSTEEL 8 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARBOENESTEEL 4 Piece
{ 7 JUNCTION BOX 400x360X210 1




Sip i olae s Gl Bl 5 2s 198 055 0
2ol s 58 glo i 55 e, slendle

m c bz bk - alr o Bl (ols camise calo PEDCO
NISOC da g SWOOTS mbse &2 Lsr o Slo )y G Sl ar ==
Ko sullS anl juis C/ L b
:Q““:-j a)u TypEicoI Ir}sfrumen.f Installation [?rowing -
xtension of Binak B/C Manifold
1 L .
053-073-9184 05z |6 [ plo] g | w2, [Swps| S | 6 28 5115 samio o)l
BK WO007S | PEDCO 110 IN DW 0001 D02
JUNCTION BOX INSTALLATION , DOUBLE (UNPAVED AREA)
TO BE DETERMINED AT SITE
w JUNCTION BOX JUNCTION BOX
)
=
<
Q <
wl N~
2 .
= i i PO
i 1
= o
w o
& S —0
) Q)\
9 § odi ‘ odi’
SEE DETAIL "A” /@)
i i N = i ] ®\ﬁ
; ’ ‘ 4 5 pipE . : oo B S’J:P\PE ’
: : : T e L, -~ CONCRETE BLOCK(SEE NOTE 2)
78 s SR IR U AT
iR “ s g p 3 g L % 250
} T0 BE DETERMINED AT SITE { !J&],! —~H—10
14 L H
g 4 I
o)
a
7% %ﬁ’ H
15
DETAIL "A"
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ.[ UNIT
1 PLATE 250 x 250 x 10t CARBON STEEL 3 Piece
2 EQUAL ANGLE { 50 x50 x 5t } CARBON STEEL 4m Meter
3 U-CHANNEL glOOX 50x 6t 3 CARBON STEEL m Meter
4 EARTH LUG FLAT BAR,TWO HOLES @6.5mm 100 x 50 x 6t CARBON STEEL 2 Piece
5 EXPANSION BOLTS M12 x 100L CARBON STEEL H.D.G 12 Piece
6 BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARBON STEEL H.D.G Piece
{’ 7 JUNCTION BOX 400x360X210 2




SEEE IR E I F LIPRCEIRY G S Py @‘
Q 2ol s 58 glo i 55 e, slendle ™
Xea/pN Sl bshs = Al Sl doly atige sl PEDCO
NISOC o WOOTS Susbge 2 Ly o 2oy G D lges @N =
S iwlUS aaljair b
ol 0l N tonsion o Binak /¢ wanfols
053-073-9184 0352 |68 oS plo] SN | w, S ps| Jbm | o 28 5116 oo o)l
BK WO007S | PEDCO 110 IN DW 0001 D02

250

JUNCTION BOX INSTALLATION , DOUBLE (UNPAVED AREA)

TO BE DETERMINED AT SITE

L'I_J JUNCTION BOX JUNCTION BOX JUNCTION BOX

&

=

<

) =

L I~

P4

: ﬁ ? Pi=e)

i ]

- o

w o

S g —0®

% q

9 § o Z ‘ odi

SEE  DETAIL "A"
5 < A & & & & A ®\ﬁ
o4 4 AA o7 S 2 E P i » ‘ q;’ : j v . kS :
: ‘ ) ¢ 3" PJPE, . ’ 73" PIPE < e j T3 PIPE R
B, e ’ ; : . Cow o,
} T0 BE DETERMINED AT SITE }
250
!J@H —H-—10
4% A% H
N @15
DETAIL "A”
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ.| UNIT
1 PLATE 250 x 250 x 10t CARBON STEEL 3 Piece
2 EQUAL ANGLE ¢ 50x 40x5t 3 CARBON STEEL 6m Meter
3 U-CHANNEL { 100x 50x 6t ) CARBON STEEL 7m Meter
4 EARTH LUG FLAT BAR,TWO HOLES @6.5mm 100 x 50 x 6t CARBON STEEL 2 Piece
5 EXPANSION BOLTS M12 x 100L CARBON STEEL H.D.G 16 Piece
6 | BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE M8 x 20L CARBON STEEL H.D.G 12 Piece
f 7 JUNCTION BOX 400x360X210 3




Sip i olae s Gl Bl 5 2s 198 055 0
2ol s 58 glo i 55 e, slendle

c S bohs - el e Dlll coly coedse sl
da g5 gWOO7S Cusbse 40 boje Sl G oWigus

NISOC @

Ko sullS anl juis

:Q““:-j a)u TypEicoI Ir}sfrumen.f Installation [?rowing -
xtension of Binak B/C Manifold
| o )
053-073-9184 05z |6 [ plo] g | w2, [Swps| S | 6 28 5117 samdo o)l
BK | woo7s | PEpco | 110 IN ow | ooot | Doz
INSTALLATION SMOKE/HEAT DETECTOR UNDER CEILING
CONCRETE CEILING
o ®
P 4 a 4 4
a < h 4 Ag 44\/ )
‘ a 4 P M <
- ﬁ - 1 yﬁe < f .4 H : -4 = ﬁ
L
/o / R \
D DETECTOR
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
. CARBON STEEL
1 CONDUIT 1 PG 8 Meter
2 FLEXIBLE CONDUIT 1" CARﬁODNGSTEEL 05 Meter
3 CONDUIT STRAP 1 CARBON STEEL 2 Piece
H.D.G.

4 | SCREW & FIBER/PLASTIC PLUG M8 CARBON STEEL 15 Piece
5 | SCREW & FIBER/PLASTIC PLUG M10 CARBON STEEL 4 Piece
6 |CONDUIT BOXWITHROLLBOLTS| 100 x 100 x 50mm CARBON STEEL 1 Piece




Sip i olae s Gl Bl 5 2s 198 055 0
2ol s 58 glo i 55 e, slendle

m c bz bk - alr o Bl (ols camise calo PEDCO
NISOC a3 SWO07S Cupmbpe & by jo Sloy G2 Slhiges o ==
Ko sullS anl juis Q b
:Q““:-j a)u TypEicoI Ir}sfrumen.f Installation [?rowing -
xtension of Binak B/C Manifold
-1 s .
053-073-9184 0552 (& oS plo| Mg |ty [ Sups| S [ s <8 51 18 o)l
BK W007S | PEDCO 110 IN DW 0001 D02

INSTALLATION SMOKE/HEAT DETECTOR IN CONTROL ROOM

CABLE TRENCH

CHECKER PLATE

I
i ! |
‘ i =y
R
CONCRETE FLOOR
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
. CARBON STEEL
1 CONDUIT 1 BoNS 1 Meter
2 FLEXIBLE CONDUIT 1" CARﬁODNGSTEEL 05 Meter
3 CONDUIT STRAP 1" CARﬁODNéTEEL 2 Piece
4 CONDUIT BEND 1 CARﬁODNéTEEL 05 Meter
5 | SCREW & FIBER/PLASTIC PLUG M10 CARBON STEEL 20 Piece
6 |CONDUITBOXWITHROLLBOLTS| 100 x 100 x 50mm CARaODNéTEEL 1 Piece
7 ANGLE 60X 60 x 6t CARBON STEEL Meter
8 PLATE 150 x 150 x 4t CARBON STEEL Piece
9 BOLTS & NUTS M8 CARaODNéTEEL 6 Piece




Sip i olae s Gl Bl 5 2s 198 055 0
2ol s 58 glo i 55 e, slendle

m’ c bz bk - alr o Bl (ols camise calo PEDCO
NISOC da 55 SWOOTS cusise 2 by o o)y G2 Dlges C.gg%%@; ==
Ko sullS anl juis b
:Q““:-j a)u TypEicoI Ir}sfrumen.f Installation [?rowing -
xtension of Binak B/C Manifold
1 L .
053-073-9184 05z |6 [ plo] g | w2, [Swps| S | 6 28 5119 samio o)l
BK W007S | PEDCO 110 IN DW 0001 D02
INSTALLATION MANUAL CALL POINT,HORN AND FLASH BEACON ON WALL (BUILDING)
—— —1—
@— e 2 CONCRETE/MASONRY WALL @ e i CONCRETE/MASONRY WALL
’ \( 3 Lo /\<
® L ® ® —=—®
! ’ [ i s Vo
. ! [ !
/ll( /4(
MANUAL CALL POINT EZ‘f‘,{ 4 @ FIRE ALARM HORN / BELL € @
T [ o FLASHER BEACON N Yo
% ¢ ‘- <
< SRR
AR <
< - i < 4 Iy
‘ Z < 2
[ ot v, S
S < S <ol
~ N o Yo
= ; a i
&y (\ LL &y (\ LA
\ 1 ! ’
R o
< E P
. FINISHED FLOOR ‘ FINISHED FLOOR
- < o >
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 FLEXIBLE CONDUIT 1" CARBON STEEL H.D.G. 0.5 Meter
2 CONDUIT 1" CARBON STEEL H.D.G. 15 Meter
3 CONDUIT STRAP 1" CARBON STEEL H.D.G. 15 Piece
4 SCREW & FIBER/PLASTIC PLUG M8 CARBON STEEL 15 Piece
5 SCREW & FIBER/PLASTIC PLUG M10 CARBON STEEL 4 Piece




Sip i olae s Gl Bl 5 2s 198 055 0

Q 2ol s 58 glo i 55 e, slendle
Xea/pN Sl bk« ol e DLl (ol cpmige el
NISOC da g5 gWOO7S Cusbse 40 boje Sl G oWigus

Ko sullS anl juis

:Q““:-j a)\MZ TypEicoI Ir}sfrumen.f Installation [?rowing -
xtension of Binak B/C Manifold

- T ~ 1 = 1 ; . 28 ;1 20 e ol
053-073—-9184 5ap |6, a | oaS oo | o g sy (S & b e J J
BK WO007S | PEDCO 110 IN Dw 0001 D02
I
FIRE ALARM HORN
FLASH LIGHT
L ©
N
(an)
® S
D
™
o
(an)
™
o
—ir
®
7\ 74
ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 BOLTS & NUTS M8 CARBON STEEL 8 Piece
2 FLEXIBLE CONDUIT 1" CARBON STEEL 05 Meter
3 CONDUIT 1" CARBON STEEL 2 Meter
4 CONDUIT STRAP 1" CARBON STEEL 4 Piece
H.D.G.
5 PLATE 200X 400 X 5t CARBON STEEL 1 Piece
6 STIFFENER PLATE 80 %200 x 6t CARBON STEEL 4 Piece
7 EXPANSION BOLTS M12x 100L CARBON STEEL 4 Piece
8 U-CHANNEL 100 % 45x 5t CARBON STEEL 356 Meter
9 PLATE 250 x 250 x 10t CARBON STEEL 1 Piece




Sip i olae s Gl Bl 5 2s 198 055 0
2ol s 58 glo i 55 e, slendle

0

FLAME DETECTOR

L4

UOUUUUj
0000000000000

000000

300mm (Note1)

— L SEE DETAIL "A”

PIT WALL
WELD

—
—
-

LOCATION

PUMP SHELTER 7
COLUMN
7

v

DETAIL "A”

ENT

JOTES:

— FOR MOUNTING ON STEEL STRUCTURE, MOUNTING PLATE/BRACKET OF THE DETECTOR IF POSSIBLE SHOULD BE WELDED.
— MOUNTING PLATE/BRACKET SHOULD BE SUPPLIED BY F&G DETECTOR VENDOR.

FIXING HOLE

Xea/pN Sl bk« ol e DLl (ol cpmige el PEDCO
Az o5 gWOOTS Cunsd go 4 Jp_,._;_,a u'.‘L""') S SUges HIRGAN ——
NISOC B =
Ko sullS anl juis G/ b
.. o s Typical Instrument Installation Drawing —
u‘w_') )Lw Extension of Binak B/C Manifold
053-073-9184 I e e R B R 2 B 28 52l sk o)l
BK W007S | PEDCO 110 IN DW 0001 D02
INSTALLATION DETAIL FOR FLAME DETECTOR
SEE DETAIL "A” SIDE VIEW

ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 FLEXIBLE CONDUIT 1 CARﬁODNéTEEL 05 Meter
2 EXPANSION BOLTS M12 x 100L CARaODNéTEEL 3 Piece




Sip i olae s Gl Bl 5 2s 198 055 0
2ol s 58 glo i 55 e, slendle

TRy | o b - o S e ool
da g5 gWOO7S Cusbse 40 boje Sl G oWigus HIRGAN f:D
NIS0C Ko sullS anl juis @ b
:Q““:-j a)\MZ Typical Instrument Installation Drawing —

Extension of Binak B/C Manifold

053-073-9184

5ap |6, a | oaS oo | o g 4, é%u{,;

Jb e

BK WO007S | PEDCO 110 IN DW

0001 D02

CABLE ROUTE MARKER POSTS

® L]
(a»)
Q L] L]
‘ ‘ (D) (NOTE 1)
B o FINISHED GRADE CONCRELE OR
|
o R ‘ ‘ NN ASPHALT PAVING i
2 S z — )
S I
; I TTe
| |
o
iy}
O -
75
\ \
-0 o)
o ol O
o ;ﬂj e
J
[ © INSTR. CABLE®
SIGN "C”
‘ 250 ‘
” ” . ”
TYPE A" UNPAVED AREA TYPE B PAVED AREA
ITEM DESCRIPTION SIZE MATERIAL QuanreQ. | UNIT
1 CABLE ROUTE MARKER SIGN (SUS) 1 Piece
2 BOLT AND NUT WITH 1-SPRING. 2-FLAT WASHERS (SUS) M6 x 25L CARBON STEEL H.D.G. 4 Piece
TYPE"A"
3 STEEL CHANNEL WHITE COLOR PAINTED 120 x 55 x 5t STAINLESS STEEL 1 Piece
4 ROUTE MARKER POSTS 1 Piece
1 CABLE ROUTE MARKER SIGN (SUS) 1 Piece
2 SPACER MORTAR 1 Piece
TYPE"B"
3 MASONRY ANCHOR WITHOUT STUD-M6 1 Piece
ROUND HEAD BOLT WITH 1-SPRING. 1-FLAT WASHER (SUS) . :
4 P A N (8U9) M6 x 251 CARBON STEEL H.D.G. 4 Piece




Sip i olae s Gl Bl 5 2s 198 055 0
2ol s 58 glo i 55 e, slendle

Xea/pN Sl bk« ol e DLl (ol cpmige el PEDCO
NISOC o WOOTS Susbge 2 Ly o 2oy G D lges @GAI; —
Sy olS aal uir (15
ol 0l N tonsion o Binak /¢ wanfols
053-073-9184 055 68w oS plof e | a, [ Speps| o |ow 28 5l 23 ool
BK WO007S | PEDCO 110 IN DW 0001 D02

INSTRUMENT CABLE INSTALLATION AROUND JUNCTION BOX

MULTI CABLE

NON. HARDENING SEALING COMPOUND

v

DETAIL"A”

s BUSHING

+X_CONDUIT PIPE

JUNCTION BOX

SEE DETAIL'A”

RIGID STEEL GALVANIZED CONDUIT

SAND FILLING

APPR. 1500

ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 CABLE TRAY WITH COVER Width=300 mm CARBON STEEL H.D.G. 15 Meter
2 CONDUIT 3" CARBON STEEL H.D.G. 0.8 Meter
3 BUSHING 3" CARBON STEEL 1 Piece




S CTE T Y KWK I 5 L EPRCRIRY SRS PR
2ol cos 58 slo ar 55 e, sl

@,

PEDCO

m e bz boks o palr e Bl 1 oly comise csl
NISOC a5 sWOOTS Susbge 0 bgrpo oy G Slges Al ==
Ko swllS aal o C/ @
:O\"ti c)L\,.Z TypEicoI Ir}sfrumen.i Installation Drowing -
xtension of Binak B/C Manifold
- it .
053-073-9184 x| @ e eSplo| Ohes | w2, S ps| S | e 2 Shas ko)l
BK W007S | PEDCO 110 IN DW 0001 D02

INSTALLATION DETAIL FOR CABLE AROUND THE LOCAL INSTRUMENTS

ITEM DESCRIPTION SIZE MATERIAL QUAN.REQ. UNIT
1 CABLE TRAY WITH COVER Width=300 mm CARBON STEEL H.D.G. 15 Meter
2 CONDUIT 3" CARBON STEEL H.D.G. 0.8 Meter
3 BUSHING 3" CARBON STEEL 1 Piece




Ko G plase ady gl 315 w2 lagdo o5, @‘
Q 2ol cos 58 slo ar 55 e, sl ™
m’ C bz boks o Lale e Slanl olr s sl PEDCO
NISOC a5 SWO07S usbse & by o Sloy G Slhiges 2 ==
Ko swllS aal o> C/ @
:O\"ti c)L\,.Z TypEicoI Ir}sfrumen.i Installation Drowing -
xtension of Binak B/C Manifold
-1 e N
053-073-9184 x| @ e eSplo| Ohes | w2, S ps| S | e 2 5l as ko)l
BK | W007S | PEDCO | 110 IN DW 0001 D02
CABLE TRAY SUPPORT
/\X/\X/\E 28 e G
i B
< ||opo
s U
| (TYPICAL)
voy Ay AT
@ iy 18mm DIA. FOR 16mm BOLTS
@ @
- CONCRETE WALL NOTE 1 ( : /I e I T
28] &) &)
200
VIEW "A”
250

SUPPORT TO CONCRETE WALL

OTES :

1— SIZE & NUMBER OF TRAYS TO SUIT

QUANTITY & SIZE OF INST. CABLES.

BASE PLATE (TYPICAL)

= | No.| SIZE IN

= [REQ | MILLIMETER DESCRIPTION MATERIAL REMARKS
1 - 40x40x6mm ANGLE,EQUAL MILD STEEL

2 - 6x100mm BAR,FLAT MILD STEEL

3 — Bmm BASE PLATE,STRUC.QUALITY,250x200mm MILD STEEL

4 — 200mm CABLE TRAY WITH COVER GALVANZED STEEL

5 — 16mmx115mm FOUNDATION BOLT (RAWL BOLT) MILD STEEL

6 - M6x20mm ROOFING BOLT & NUTS,MUSHROOM HEAD GALVANIZED STEEL

7 - 8mm WASHER, ROUND FLAT GALVANIZED STEEL




S o8 ol a5 Gl Bl 5 w2l 055
2ol cos 58 slo ar 55 e, sl

@,

m’ C bz boks o Lale e Slanl olr s sl PEDCO
NISOC a5 SWO07S usbse & by o Sloy G Slhiges 2 ==
Ko swllS aal o> C/ @
:O\"ti c)L\,.Z TypEicoI Ir}sfrumen.i Installation Drowing -
xtension of Binak B/C Manifold
- it .
053-073-9184 x| @ e eSplo| Ohes | w2, S ps| S | e 2 5126 ramio )l
BK W007S | PEDCO 110 IN DW 0001 D02

TYPICAL METHODS OF TRAY SUPPORT

TYPICAL 90° CHANGE IN

DIRECTION OF CABLE TRAY

—

WELD

=
—= 1=

—(2)
T

TYPICAL

100

VIEW "A”

(TYPICAL)

)

WELDED _——"

= | No.| SIZE IN

=2

2 |REQ |MILLIMETER DESCRIPTION MATERIAL REMARKS
1 40x40x6mm ANGLE,EQUAL MILD STEEL

2 B6x50mm BAR,FLAT MILD STEEL

3 10x250mm MOUNTING STRIP Ss.

4 70mm CABLE TRAY WITH COVER GALVANIZED STEEL
5 70mm RISER,UNIVERSAL,INNER BEND 90 WITH COVER GALVANIZED STEEL
[ 70mm RISER,UNIVERSAL,OUTER BEND 90" WITH COVER GALVANIZED STEEL
7 70mm BEND,SECTIONAL WITH COVER GALVANIZED STEEL
8 M6x20mm ROOFING BOLT & NUTS,MUSHROOM HEAD GALVINAZED STEEL
g 8mm WASHER, ROUND FLAT GALVINAZED STEEL




R CHRET SR KV I 57 BPNCRA KK G g

@,

PEDCO

C‘E&%%élﬁ == F

% 2ol cos 58 slo ar 55 e, sl
'm, ¢ b bahs - ol Sl by cusige el
NISOC dav g sWOO7S Cusbse & bo o Sloy G Sligus
Ko swllS aal o>
:Q\MJ o s Typical Instrument Installation Drawing -
D Extension of Binak B/C Manifold

053-073-9184 o59n |6 oS nlo [ s | ad, | Syl pp| Sl | ane
BK W007S | PEDCO 110 IN DW 0001 D02

28 1 27 iamis o)l

CABLE TRAY SUPPORT

18mm DIA. FOR 16mm BOLTS

/

200
250

D (5]
[ 200 |
250
NO. OF TRAY X
1 500mm
2 900mm
3 1300mm

NOTES :

®

¥
%Wé L
1 OO% 400

1— ALL DIMENSIONS IN MILLIMETER UNLESS OTHERWISE STATED.
P— X & Y LENGTHS TO BE DETERMINED AT SITE ACCORDING TO NUMBER OF CABLE TRAY.

N
/
Ymin=400

WELDED

— N WELDED

SUPPORT TO CONCRETE CEILING

Z| No.| SIZE IN

=

& [REQ |MILLIMETER DESCRIPTION MATERIAL REMARKS
1 — 40x40x6mm ANGLE,EQUAL MILD STEEL

2 — 60xB0x8mm ANGLE EQUAL MILD STEEL

3 — 6mm BASE PLATE,STRUC.QUALITY,250x250mm MILD STEEL

4 — 500mm CABLE TRAY WITH COVER GALVANIZED STEEL

5 — 18mMmmx50mm FOUNDATION BOLT (RAWL BOLT) MILD STEEL

6 — MBx20mm ROOFING BOLT & NUTS,MUSHROOM HEAD GALVANIZED STEEL

7 — 8mm WASHER, ROUND FLAT GALVANIZED STEEL




A -~ /- -~
Sy o8 ol a5 sl 0550 @‘
& Ul s 15 gl iy 5 sieess s wlenla N
m’ ¢ b bahs - ol Sl by cusige el PEDCO
NISOC a5 SWO07S usbse & by o Sloy G Slhiges 2 ==
Ko swllS aal o> C/ @
:O\"ti c)L\,.Z Typical Ir}sfrumen.i Installation Drowing -
Extension of Binak B/C Manifold
- , 3! tasis o,
053-073-9184 532 [ aw oS plo| Mg |ty | Smpn| Jm [ o <8 51 e8 *
BK W007S | PEDCO 110 IN DW 0001 D02
CABLE TRAY SUPPORT
( : ) 1 * - T
1T
WELDED 2
Q
1= Q
i 1
é £ (TYPICAL)
s ™ L]
f=4
:
O -
WELDED o
=}
+
@\u L1 \ ]F
[@) ~
O,
e B g
SUPPORT TO STEEL STRUCTURE SUPPORT TO STEEL COLUMN
NO. OF TRAY X NO. OF TRAY X
1 500mm 1 500mm
900mm 2 900mm
1300mm 3 1300mm
NOTES :
1— ALL DIMENSIONS IN MILLIMETER UNLESS OTHERWISE STATED.
R— X & Y LENGTHS TO BE DETERMINED AT SITE ACCORDING TO NUMBER OF CABLE TRAY.
E No SIZE IN DESCRIPTION MATERIAL REMARKS
£ |REQ [MILLIMETER
1| — 40x40x6mm | ANGLE,EQUAL MILD STEEL
2 | — 60x60xBmm | ANGLE ,EQUAL MILD STEEL
3| — 6mm BASE_PLATE,STRUC.QUALITY,250x250mm MILD STEEL
4 — 500mm CABLE TRAY WITH COVER GALVANIZED STEEL
5 | — 200mm CABLE TRAY WITH COVER GALVANIZED STEEL
6 | - 16mmx50mm | BLACK BOLT & NUTS,HEAVY SEREIS STEEL
7 | — MBx20rmm ROOFING BOLT & NUTS,MUSHROOM HEAD GALVANIZED STEEL
s | — 8rnm WASHER, ROUND FLAT GALVANIZED STEEL




	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)
	BK-W007S-PEDCO-110-IN-DW-0001_D02 Model (1)

